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121. Choose the sentence where the comma is ‘placed
correctly:
A. Yes the play was, fun.
B. No I didn’t, go backstage.
C. Well, the ending did surprise me.
D. No Mohan, was the lead actor.

122. Choose the option which gives the correct abbreviation:
A Janu. 12, 1965
B. Laxmi Paper Comp
C. Satur., May 19
D. North St.

123. Choose the correct spelling:
A. calendar
B. celender.
C. calandar
D. calander

124, Choose the correct spelling:
A. preveledge

B. previlege
.C. privilege

-D." priv i_lcdge

126. The word pair—

125. What does the phrase
A. putting cream in ¢
B. the worst of
C. icing a cake
D. the best of 5 group

‘cream of the crop’ mean?
offee -

a group

discrete and g;
A homonym discreet —

are called
B. homophone

A gravely
- grave]
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o  fpanieing sentence is marked by using a/an
e

p. period . .
the given sentence identify the gerund:

130, In d exercise.

Jogging is a goo
A jogging
B. is.
C. good
D. exerclseé
{31, 1dentify the type of word that is underlined in the
given sentence:
All the pcople cheered.
A. noun
C. adjective D.
132, Identify the type of word that is underlined in the
given sentence:
It's Sheer rubbish
A, noun
B. pronoun
C. adjective
D. verb _
133. Choose the singular form of the given word:
© gulfs
A. engulf B. gulp
C. gulf D. golf

134, Choose the correct sentence:
A. Of water take this glass
B. Take glass of this water
C. Take this glass of water
D. Take this water of glass
135. Choose the word that is spelt mcorrectly
A. dulcet
B. convulse
C. principal -
D. negetive

B. pronoun
verb

136. Choose the word that is spelt correctly
A. difine

B. maime

C. perfidy

D. ingrace
137, This movie is

A best

B. good

C. better

D. worst
138. Ravi wasn’t thinking

clear y

B. unclear

C.. clearly

D, uncleatly

........................ than the la;st one.

e T —
e
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A sy,
a e

139. Choose the part ‘where there i
sentence: s

A. T went to

‘ B. the library to get
C._as many information
D. as I could b

(69 wRa)

ey g casg

140. Choose the sentence that is correct with respect to
punctuation and capitalization: -
A. how glad we were to see Aunt Rekha!
B. She was visiting us for summer
C. Had she missed us

’ D. we welcomed her into our home?

141. Which statement is correct?
Statement I : We considered the matter farther
Statement II : We considered the matter further
A. BothIand Il -
B. Only I

"C. Only IT

D. Neittier I nor II .

142. What is the past participle of ‘ride’?

A. ride B. rode

C. rides D. ridden
143. What is the simple present of ‘grew’?

A. grow B. growth

C. grown D. grows
144. Choose the adverb from the following:

A. walk . badly

C. good D. fast
145. Choose the adverb from the following:

A. hardly B. hard

C. harder D. hardy
146. Identify the type of verb in the given sentence:

He slept.

A. transitive verb
B. intransitive verb
C. regular verb

'D. irregular verb

147. Choose the superlative form of ‘fast’:

A. fast B. faster

C. fastest D. fastly
148. If the superlative is least, then the positive is
' A least B. less

© C. little _ D. lesser
149. What is the comparanve form of ‘bad’?

A. bad B. worse

C. better D. worst

150. Fill in the blank:

ime has already been wasted.
B. Many
D. All of these

.......................



3
A D A D _
11 12 13 14 15
D D A D B
21 22 23 24 25
B D D D
31 32 33 34 35
A B C D
41 42 43 44 45
B ' D D A
51 52 53 54 55
“ D A D C
61 62 63 64 65
D D D B B
71 72 73 74 75
C C A D ‘B
81 82 83 84 85
B B C A D
91 92 93 94 95
€ A A c B
101 102 103 104 105
A e C B A
111 112 113 114 115
C A - " C B )
121 122 123 124 125
C D A C D
131 132 - 133 134 135
B C (1 C D
141 142 143 144 145
c D A B A

9 10
7 8 A A
B D
D 18 19 20
D D 29 30
27 28
26 4 c C D
D 39 40
7 38
36 3 C A C
A D 9 50
4
46 47 48 . A
c D B N
56 57 2 > e
D D c = A
- p 68 69 70
B B D A i
86 87 88 89 90
g A D D D
96 97 98 99 100
A B D A A
. 106 107 108 109 - . 110
A B A D B
116 117 118 119 120
B C D B C
l;ﬁ 127 128 129 130
13 ; > . B A
p _
= 127 138 139 140
146 < < B
147 148 :
149 150
B C C

m@ﬂﬁmm%mm...

31 9 W U dEwd = =6 x (32
6 (o2 =96
(g2 =16
. YT = 4
o O AT T =48y
32. TEUE 42 - 35+ 85 P =
mﬁ@ﬁ'iﬁmﬂﬁqmﬁm%]
34. A= [23456}13 {3,5,7,9)
AnB={(3,5)

o Wzﬁm[aﬁ&?ﬁmmaﬁ%]
aﬁﬁﬁ ?8000% =% 7200

W= *ﬁliﬁqia:r
=8000 - 7200 = 7 ggq
IR =
= “ﬁ%xwo
= 800x109

8000 =10%

i e i« S



E ol
.‘T, 55

B = 0= .85 = 35

il \]
a X180 = 30°

. ‘q W g '1!‘3@‘

JRARINININININ
x2x2=16

ax “u“tr BARNIRELN » :

‘
“N

.ra- “

o, 0

=
=

- T
=

|

o
e

\
=314
4, ET B ZA=2"°
ZB=T"
ZC=8°
A+ 7o+ Qo= 180°
(Brger & T ol =
18 x =180
x=10°
ZA =30°,
ZB =70°
ZC =80°
I T HOT = 80°
44, % 40% it ¥)
o TR B AR =

180°)

100 —40 =60

o TR A e =%x50=30

8. $37.25+%230 ¥30.45-%1.20
T12.67-%3476 10 79,50 -26.33. )

3955 1 (29_35
3.25

791 10
=5-90=%4.10

46. 000187 = - 187 10000

00000

1. 23 e = 23000 7my

= 18.683 foraiimmy |

.., A

7 *”ﬁ“) blw
e SRS

A8, 485145097 Moy
W i ) WA e 0,97 My
49, 202 % v x XY

=2xX5x5x5
= 250

OTRT: 20 W1 W = 250
50. 0.02wr @i =002 x 0.02

2.1 4
el s e o —
1007100 10000
= 0.0004
53. 3,4, 12, 16 3 TETAT THITRIE = 48
3% A9 m
4 48 16 48
2_32 5.2
3 48 12 48
329 5
Wzm:zmﬁ‘“““"’*'
3 5 5
AL YA, e
54 4+7 3=+
3 5 9+5
Rl W | _—
4+11+7+2 5+ 2
14
_15+—2—1
2
=15+—
e
2 5
g 15-3'1-'5 9
6-5
=12+
=]2+-l‘



